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2009年1月高等教育自学考试全国统一命题考试

基础英语试题

课程代码：00088

请将答案填答题纸相应的位置上

一、词汇应用和语法结构（本大题共30小题，每小题1分，共30分）

（一）词汇应用（15分）

选择最佳答案完成句子，错选、多选或未选均无分。

1.Eachcountryhastoimportthearticlesandcommoditiesitdoesnotitself______.

A.produce
B.increase
C.design
D.sell

2.Theimportandexporttradesaretwo______ofthesamecoin.

A.parties
B.sides
C.groups
D.sizes

3.It’s______thatalmost3milliontouristswillvisitSingaporeeachyearinthenearfutur[[微信公众号：ikaoti]
E.
A.supposed
B.estimated
C.guessed
D.calculated

4.Thebosshasalwaysthoughtvery______ofhim.

A.highly
B.better
C.well
D.excellent

5.Internationaltradewouldbeaquickandeffectivewayto______thewoundsofthewar.

A.repair
B.remedy
C.treat
D.heal

6.Marketing______agreatmanyjobsintheUnitedStates.

A.supports
B.provides
C.searches
D.gives

7.Highinterestrates______peoplefromborrowingmoney.

A.discourage
B.decrease
C.disturb
D.disgust

8.Thereareafewquestionsthat______havetoanswer.

A.economical
B.economics
C.economy[[微信公众号：ikaoti]
D.economists

9.Youmustalwaysbeonyour______againstviolenc

E.
A.guide
B.attention
C.protection
D.guard

10.Itisknownthateveryone______fromfreecompetition.

A.profits
B.gets
C.benefits
D.gains

11.BikesproducedinGuangzhouarevery______inmanycountries.

A.beloved
B.popular
C.favored
D.enjoyed

12.Bymeansoftaxation,we______forthingsthatweneedjustasmuchasweneedsomewheretoliveandsomethingtoeat.

A.pay
B.own
C.get
D.buy[最新年份咨询qq593777558]
13.Whatthemanagerissayingdoesnot______tom[[微信公众号：ikaoti]
E.
A.fit
B.suit
C.apply
D.adjust

14.Asteelmill______ahugearea,andisafrighteningplacetovisitbecauseofitsgreatfiresandheat.

A.covers
B.contains
C.seizes
D.includes

15.Companies______theirproductstomakepeoplebuy.

A.publize
B.advertise
C.announce
D.call

（二）语法结构（15分）

选择最佳答案完成句子，错选、多选或未选均无分。

16.Johnregretted______tothemeetinglastweek.

A.notgoing
B.nottogo
C.notgo
D.nottobegoing

17.Wedesirethatthetourleader______usimmediatelyofanychangesinplans.

A.informs
B.inform
C.informed
D.hasinformed

18.Nosooner______themachinethanitwentsmoothly.

A.hadtheworkeroiled
B.theworkerhadoiled

C.wouldtheworkeroil
D.theworkeroiled

19.He______whenthebuscametoasuddenstop.

A.wasalmosthurt
B.almostwashurthimself

C.wasalmosttohurthimself
D.wasalmosthurtinghimself

20.All______isacontinuoussupplyofthebasicnecessitiesoflif

E.
A.whatisneeded
B.thethingneeded

C.forourneeds
D.thatisneeded

21.Notonly______fromthecrisis,butitdevelopstoeveryone’ssatisfaction.

A.theeconomyrecovers
B.doestheeconomyrecover

C.theeconomywasrecovering
D.recoverstheeconomy

22.Something______verygoo

D.
A.smells
B.issmelling
C.wassmelling
D.hassmelled

23.Onlytwentypercentofthework______doneyesterday.

A.has
B.was
C.have
D.were

24.Theycanbuildtheroadwith______moneyand______peopleiftheytaketheengineer’sadvic

E.
A.fewer/less
B.alittle/few
C.little/afew
D.less/fewer

25.Theyprefersilkproducts______cottonones.

A.than
B.to
C.for
D.ratherthan

26.Bobspeakstome______heweremybrother.

A.evenif
B.although
C.if
D.asif

27.______finedayswecouldseefromthewindowstheWestHillsinthedistanc

E.
A.In
B.Under
C.With
D.On[[微信公众号：ikaoti]
28.Thecompanywouldnotconsider______thepayforitsemployees.[[微信公众号：ikaoti]
A.rising
B.torise
C.raising
D.toraise

29.Inbusiness,successnotonlydependsonwhatonesaysbutalsoonhow______.

A.onesaysit
B.tobesaying
C.isitsaid
D.doesonesayso

30.______nothingmoretodiscuss,thesecretary-generalgottohisfeet,saidgoodbyeandlefttheroom.[本科目答案页面导航：http://zk.ikaoti.cn/zikao.htm]
A.Thereis
B.Being
C.Therebeing
D.Astherebeing

二、改错（本大题共10小题，每小题1分，共10分）

下面句子中有A,B,C,D四个划底线部分，其中有一个是错误的，选出错误部分的字母，无需改正错误。

31.


tryto


howalltheparts


thelongstoryare


.

32.Today,


costing65cents,aboxof200


tissues


aroundonethirdofthatprice,andthesefacialtissues


bothsofterandstronger.

33.Ifwe


useupthese


,orifweproducetoo


ofthem,theymayactually


us.

34.Ofcourse,itisthepeople


buythese


things


reallyhavetopaythe


intheformofhigherprices.

35.The


importantmetal


toolsandweapons


bronze,


ofcopperandtin.

36.Thepolicies


areaimedat


the


ofenergycrisisand


people’slives.

37.Inthe


AgessomeWestern


cities


special


totraders.

38.


increasesoutput,


italsomakespeople


on


.

39.


isapositiveway


youcanmake


moneygo


.

40.Technologicalprogress


ofthe


may


increasedinvestmentandexpansionthroughoutthesystem


.

三、完形填空（本大题共15小题，每小题1分，共15分）

选择最佳答案完成句子，错选、多选或未选均无分。

Bylatemiddleagesmanyworkersarelooking 41 toretirement,andmillionsofthose 42 haveretiredareonlytoogladtoexchangetheroutinesofwork 43 thesatisfactionthatamoreleisuredlifemay 44.Manyotherworkersarereluctanttogiveuptheir 45.Thedesiretocontinueworkingoftenstemsfromharsheconomicreality,for 46 usuallybringsasharpdropinincom

E.47 workersfearthelossofsocialidentitythatcanresultfrom 48 ajo

B.Theymaybeleftwith“nothingtodo”,andmayfindthattheyare 49 alifewithsignificantmeaningandfulfillment.Thoseoldpeoplewho 50 liketocontinueworkingareoftenvictimsof 51 isperhapsthemoststrikingexampleofagediscrimination(歧视):thepracticeofmandatory(强制的)retirement,underwhichpeopleareforcedtogiveuptheirjobsimmediatelywhenthey 52 acertainag

E.Untilrecentlythepreciseageformandatoryretirement 53 fromjobtojo

B.TheusualmandatoryretirementageintheU.S.A.,however,wassixtyfiv

E.Theobjectiontomandatoryretirementisthatthereisno 54 tosuggestthatmostpeopleovertheageofsixtyfiveorseventyareincapableofworking;attheturnofthecentury,infact,70percentofmenoversixtyfivewerestill 55 inthelaborforc

E.
41.A.forward
B.back
C.at
D.backward

42.A.that
B.who
C.which
D.whom

43.A.in
B.for
C.to
D.with

44.A.take
B.gain
C.bring
D.send

45.A.jobs
B.works[最新年份咨询qq593777558]
C.position
D.tasks

46.A.unemployment
B.retirement
C.loneliness
D.retreat

47.A.any
B.some
C.no
D.somebody

48.A.nottohave
B.nothave
C.havingnot
D.nothaving

49.A.assuredof
B.remindedof[[微信公众号：ikaoti]
C.robbedof
D.convincedof

50.A.could
B.should
C.would
D.might

51.A.what
B.that
C.which
D.when

52.A.arrive
B.get
C.reach
D.come

53.A.varied
B.ranged
C.shifted
D.turned

54.A.event
B.incident
C.evidence
D.indication

55.A.active
B.ignored
C.inactive
D.useless

四、阅读理解（本大题共10小题，每小题2分，共20分）

本部分有两篇短文，每篇短文后有五个问题,每个问题有四个选项,选择最佳答案完成句子。错选、多选或未选均无分。

Passage1[最新年份咨询qq593777558]
Theadvantagesanddisadvantagesofalargepopulationhavelongbeenasubjectofdiscussionamongeconomists.Ithasbeenarguedthatthesupplyofgoodlandislimite

D.Tofeedalargepopulation,inferiorlandmustbecultivatedandthegoodlandworkedintensively.Thus,eachpersonproduceslessandthismeansaloweraverageincomethancouldbeobtainedwithasmallerpopulation.Other economists have argued that a large population gives more scope for specialization and justifies the development of facilities such as ports, roads and railways, which are not likely to be built unless there is a big deman

D.
Oneofthedifficultiesincarryingoutaworldwidebirthcontrolprogramliesinthefactthatofficialattitudestopopulationgrowthvaryfromcountrytocountrydependingonthelevelofindustrialdevelopmentandtheavailabilityoffoodrawmaterials.Inthedevelopingcountrywhereavastlyexpandedpopulationispressingharduponthelimitsoffood,spaceandnaturalresources,itwillbethefirstconcernofgovernmenttoplacealimitonthebirthrate,whatevertheconsequencesmayb

E.Inahighlyindustrializedsociety,theproblemmaybemorecomplex.Adecreasingbirthratemayleadtounemploymentbecauseitresultsinadecliningmarketformanufacturedgoods.Whenthepressureofpopulationonhousingdeclines,pricesalsodeclineandthebuildingindustryisweakene[[微信公众号：ikaoti]
D.Facedwithconsiderationssuchasthese,thegovernmentofadevelopedcountrymaywellprefertoseeaslowlyincreasingpopulation,ratherthanonewhichisstableorindeclin

E.
56.Asmallpopulationmaymean______.

A.higherproductivity,butaloweraverageincome

B.lowerproductivity,butahigheraverageincome

C.lowerproductivityandaloweraverageincome

D.higherproductivityandahigheraverageincome

57.Alargepopulationwillprovideachancefordeveloping______.

A.scope
B.transportsystem

C.species
D.nationaleconomy

58.Inadevelopedcountry,peoplewillperhapsgooutofworkif______.

A.thebirthrategoesup

B.thebirthrategoesdown

C.thebirthrateremainsstable

D.thereisagreatdemandformanufacturedgoods

59.Accordingtothepassage,slowlyrisingbirthrateperhapsisgoodfor______.

A.adevelopingnation

B.adevelopednation

C.everynationwithabigpopulation

D.everynationwithasmallpopulation[本科目答案页面导航：http://zk.ikaoti.cn/zikao.htm]
60.Itisnoeasyjobtocarryoutageneralplanforbirthcontrolthroughouttheworldbecause______.

A.therearetoomanyunderdevelopedcountriesintheworld

B.underdevelopedcountrieshavelowlevelofindustrialdevelopment

C.differentgovernmentshavedifferentviewsofthequestion

D.eventhedevelopedcountriesmayhavemorecomplexproblems

Passage2

AmajornewdevelopmentinsystemsofworkinBritainistakingplac

E.Flexibleworkinghours,or“Flextime”,arecatchingonfast,andthistrendiscontinuing.In1973,over500organizationsadoptedtheidea,andby1974,thisnumberhadrisentoover200,000.

FlexibleworkinghourswereinventedinGermanyinthelate1960’s,butreachedBritainonlyin1972.Thesystemallowsworkerstostartandfinishworkwhenevertheywant,withonlytworequirements.Theseare,firstly,thatallworkersmustbepresentforcertain“key”timesinday,andsecondly,thatallworkersmustworkanagreedtotalnumberofhoursperweek.

Thesystemhasprovedanalmosttotalsuccesswhereverithasbeentrie

D.Asurveyof700workersonflexiblehoursshowedthreemainadvantages:abetterbalancebetweenworkingandprivatelife,avoidanceoftheneedtotravelduringrushhoursandtheabilitytobeabletofinishacertaintaskbeforeleaving.

Fromtheemployer’spointofview,thesystemtendstoincreaseproductivity,reducelaborturnoverandgivetheworkersagreatersenseofduty.

61.Flexibleworkinghourswerefirstlyinventedbythe______.

A.British
B.Americans
C.Germans
D.Japanese

62.Accordingto“Flextime”system,workersmust______.

A.workanagreedtotalnumberofhoursperweek

B.workalltheweekdays

C.gotoworkatweekends

D.gotoworkintheearlymorning[[微信公众号：ikaoti]
63.“Key”timeisaperiodwhen______.

A.visitorscometotheplants

B.allworkersmustbeatwork

C.employersgoroundintheworkshops[[微信公众号：ikaoti]
D.rushhoursareover

64.Nomatterwhereitisused,“Flextime”systemhasproved______.[本科目答案页面导航：http://zk.ikaoti.cn/zikao.htm]
A.entirelyeffective

B.acompletefailure

C.tobedislikedbytheemployers

D.toodifficulttocarryout

65.Oneofthemainadvantagesof“Flextime”forworkersisthatthey______.[最新年份咨询qq593777558]
A.cangetmorefreetime

B.canavoidbusytraffic

C.cangethigherpay

D.canavoidworkinghard

五、单词或短语的英汉互译（本大题共10小题，每小题1分，共10分）

(一)将下列词语译成中文（5分）

66.economicpolicies

67.mass-productionmethods　

68.theBureauofInternationalCommerce

69.specialization

70.shoppingcenter

（二）将下列词语译成英文（5分）

71.所得税

72.保险费

73.标准化集装箱

74.需求曲线　[最新年份咨询qq593777558]
75.购买力

六、英汉句子互译(本大题共4小题，每小题34分，共15分）

（一）将下列句子译成中文

76.Insomecountries,thetaxontherichestpeoplegoesashighas90or95percent.(4分)

77.Theirexportcommoditiesarebecominglesscompetitiveinpric

E.(4分)

（二）将下列句子译成英文

78.人生成功与否主要取决于我们如何与人交往。(4分)

79.炼铁时，需用大量的煤作为燃料。(3分)
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